Virginia High School League

Scholastic Bowl, 2000-01 season

District Competition, Match #2

These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 toss-ups 
1.
At what naval battle did Themistocles (theh-MISS-toh-kleez) defeat the Persian navy that Xerxes personally commanded?

ANSWER: SALAMIS
2.
THIS IS A COMPUTATION QUESTION. What is the area of a Pythagorean right triangle with sides of length 3, 4 and 5?

ANSWER: SIX (remember 3 and 4 are the height and base respectively – or the base and height)

3.
Animals use this acid, with formula C5H4N4O3, as a means of excreting nitrogen. Deposits of its crystals in the joints can lead to gout and rheumatism. What is this acid which gives liquid human waste its name?

ANSWER: URIC acid

4.
What author of Manfred, Childe Harold’s Pilgrimage and Prometheus Unbound died in 1824 in Missolonghi, Greece, joining the fight for Greek independence?

ANSWER: George GORDON or LORD BYRON
First period (continued)

5.
Early in 2000, this man’s camps in Afghanistan were attacked by U.S. missile strikes. He bid his time, and his organization is now a prime suspect in the terrorist attack on the U.S.S. Cole. Who is this renegade Saudi billionaire?

ANSWER: Osama bin LADEN
6.
THIS IS A COMPUTATION QUESTION. A ship runs aground on some rocks. It can pump out water at 5,000 gallons a minute, but is taking in water at 5,050 gallons per minute. How many hours and minutes will be needed to fill the hold, which is 20,000 gallons, and sink the ship?

ANSWER: 6 HOURS AND 40 MINUTES

7.
Hydrophobia is the alternate name for what nervous system disorder that affects bats, foxes, cats and dogs and is spread to humans by being bitten by an infected animal?

ANSWER: RABIES
8.
What eight-letter word identifies either a piece of paper chewed up and used as a projectile, or an illegal baseball pitch?

ANSWER: SPITBALL
9.
Running from 1970 to 1983, its final episode, Goodbye, Farewell, Amen, remains the most watched television program in US history. What was this CBS comedy about the exploits of battlefield doctors during the Korean War?

ANSWER: M*A*S*H*
10.
What article of the Constitution defines the executive branch?

ANSWER: SECOND
First period (continued)

11.
On its first night of broadcasting, it gave returns from the Harding-Cox election. What is this radio station in Pittsburgh that started broadcasting in 1920, the oldest continuously broadcasting station in the country?

ANSWER: KDKA
12.
The author of this book tried to get it printed in four different colour inks. Failing that, he was still able to get the four different perspectives of the downfall of the Compson family, in what book by William Faulkner?

ANSWER: THE SOUND AND THE FURY
13.
As if the New York Yankees needed any more help, they have recently given an $88.5 million, six-year contract to what former Baltimore Oriole?

ANSWER: Mike MUSSINA

14.
The constant named after what man is approximated at 6.023 times 10 to the 23rd power, and is the number of atoms in 1 mole of a substance?

ANSWER: AVOGADRO’S number

15.
THIS IS A COMPUTATION QUESTION. A right triangle has a hypotenuse of 20 centimeters and a short leg of 8 centimeters. What is the length of its long leg?

ANSWER: 4 SQUARE ROOTS OF 21 or SQUARE ROOT OF 336

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
Which geologic era was the longest in geologic history, starting with the earth’s formation and ending with the start of the Paleozoic Era?

ANSWER: PRE-CAMBRIAN Era

1B.
Between Napoleon’s first overthrow and his Hundred Days, Napoleon was exiled to what island in the Mediterranean?

ANSWER: ELBA
2A.
THIS IS A COMPUTATION QUESTION. What is the chance of three ones coming up when three dice are thrown?

ANSWER: ONE IN 216 (accept equivalents)

2B.
Who wrote the book Kim?

ANSWER: Rudyard KIPLING

3A.
In what year did Operation Babaroussa, the German invasion of the Soviet Union, occur?

ANSWER: 1941
3B.
What is the name given to steel that is made rust-resistant through the addition of nickel and chromium?

ANSWER: STAINLESS
4A.
The story of Henry Fleming’s involvement in the Civil War is the subject of what book by Stephen Crane?

ANSWER: THE RED BADGE OF COURAGE
4B.
Gigabytes are large, but what larger unit of data storage consists of 1000 gigabytes?

ANSWER: TERABYTES

Second period (continued)

5A.
Which composer’s Sixth symphony is the Pathetique?

ANSWER: Peter TCHAIKOWSKY

5B.
What four letter Arabic word starting with H is the term for the pilgrimage that all Moslems should take to Mecca?

ANSWER: HAJJ
6A.
What was the first state other than the original 13 states to join the United States?

ANSWER: VERMONT
6B.
What is the 8-letter sociological term used to describe the movement of an individual or group from one social class or status to another?

ANSWER: MOBILITY
7A.
THIS IS A COMPUTATION QUESTION.  What is the integral with respect to x of the expression 2x + 4?

ANSWER: X SQUARED PLUS 4X PLUS C (DO NOT ACCEPT X SQUARED PLUS 4X)

7B.
Which humorist is credited with creating the character Walter Mitty?

ANSWER: James THURBER
8A.
Who is the current President of Russia?

ANSWER: Vladimir PUTIN
8B.
Sandro Botticelli is best known for his painting of the birth of what goddess, which legend holds was in the sea-foam of Cyprus?

ANSWER: VENUS or APHRODITE
Second period (continued)

9A.
What is the name of the girl whose charms draw both Brom Bones and Ichabod Crane in The Legend of Sleepy Hollow?

ANSWER: KATRINA VAN TASSEL

9B.
What is the term used to describe a line segment that is drawn from the vertex of an angle, creating two angles of equal size?

ANSWER: BISECTOR
10A.
What is the process by which a material goes directly from the solid state to the gaseous state without going through a liquid state?

ANSWER: SUBLIMATION
10B.
What Cambridge physicist is the author of A Brief History of Time? 

ANSWER: Stephen HAWKING
Third period: 15 toss-ups 

1.
This 10-letter word gets its origin from the Italian caricare, to exaggerate. What word can mean an imitation so poor as to be absurd, but is more commonly used to mean a representation in which the subject’s distinctive features are exaggerated to the point of comedy?

ANSWER: CARIACTURE
2.
His brother Theo was an art dealer. His paintings include The Old Mill and Still Life With Potatoes. Who is this painter that is far better remembered in the public mind, however, for cutting off his ear?

ANSWER: Vincent VAN GOGH
3.
Faulty air conditioning was the cause of the first known outbreak of this virulent pneumonia. What is this disease, named for the organization whose 1976 Philadelphia convention was affected by an outbreak of this disease? 

ANSWER: LEGIONNAIRE’S disease

4.
THIS IS A COMPUTATION QUESTION. A cylinder has a radius of 5 inches and a height of 10 inches. What, in cubic inches, is the volume of the cylinder?

ANSWER: 250 PI cubic inches

5.
He is the only President to hail from Pennsylvania and was the only bachelor President. His indecisiveness over incidents such as John Brown’s raid emboldened South Carolina to vote itself out of the Union. Who was this President in office before the Civil War?

ANSWER: James BUCHANAN
6.
After Napoleon crowned himself Emperor, Beethoven tore off the dedication page to what work, also called the Third Symphony?

ANSWER: EROICA (accept Third Symphony before that is said)

7.
What is the common name of the full moon closest to the autumnal equinox, so called because it allows farmers extra time to collect their crops?

ANSWER: HARVEST MOON

Third period (continued)

8.
THIS IS A COMPUTATION QUESTION.  An army of 200,000 is angry at its commander, deserting at the rate of 500 people per day. How many days will it take for 10% of the army to desert, thus ensuring the commander is relieved?

ANSWER: 40 DAYS
9.
His brothers Geoffrey and John plotted while he was away on the Third Crusade for the throne. Ironically he is one of the most beloved of English kings, despite only spending six months of his ten-year reign in England. Who is this king whose courage and skill in battle earned him the name “Lion-Hearted?”

ANSWER: RICHARD I (accept Richard the Lion-Hearted before Lion-Hearted is read)

10.
Hard Times, Our Mutual Friend, Barnaby Rudge, Bleak House, Great Expectations and A Tale of Two Cities are all written by what author?

ANSWER: Charles DICKENS
11.
Robert Milliken determined the charge of this particle, which was discovered by JJ Thomson in 1897. This particle is associated with the weak nuclear force and is emitted during radioactive beta decay. What is this subatomic particle that orbits the nucleus and has a negative charge?

ANSWER: ELECTRON
12.
What type of quadrilateral has only two of its sides parallel?

ANSWER: TRAPEZOID
13.
Don Carlos Buell’s arrival on the second day was crucial. However, this indecisive 1862 battle saw the South losing Albert Sidney Johnston. What was this April 6 and 7 battle in Tennessee?

ANSWER: SHILOH
Third period (continued)

14.
This resident of East Egg is selfish, boorish and interested in material possessions. He was in the same senior society at Yale as the narrator, and believes middle-class American is under threat from Blacks and other minorities. When his mistress mentions his wife, he breaks her nose. Who is this man, the husband of Daisy, in The Great Gatsby?

ANSWER: TOM BUCHANAN

15.
This Norse god was the father of the Midgaard Serpent. He wreaked havoc among the other Norse Gods, causing his blind half-brother Hodur to throw the mistletoe dart that killed Baldur the Beautiful, triggering the chain of events that led to Ragnarok. Who is this Norse god of mischief?

ANSWER: LOKI
Spares

THIS IS A COMPUTATION QUESTION.  A worker makes $10.00 an hour working 40 hours per week. Assuming that he takes 2 weeks of unpaid vacation, sick leave, etc., how much does the worker make in a year?

ANSWER: $20,000 per year

In verbs with a separate past participle, what two-letter suffix usually is added to the verb root?

ANSWER: -EN (broken, taken, shaken, etc.)

Wen Ho Lee was a scientist at what national laboratory?

ANSWER: LOS ALAMOS
During this process, a diploid nucleus, containing two sets of chromosomes, undergoes two successive divisions, yielding four cells with half a chromosome set. What is this process that creates gametes in animals and sexual spores in plants?

ANSWER: MEIOSIS
It rises in the Cotswold Hills in Gloustershire (gloo-STER-sheer), going through Oxfordshire (ox-FORD-sheer), Berkshire and Surrey, and empties into the North Sea between Essex and Kent, going 219 miles in total. What is this river that also flows through London?

ANSWER: THAMES
All questions © 2000 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

